Packbord HD 500

9-752

WORKPLACES FOR INDUSTRIES

Wi

WFI AB



4x X X 2X

A A A [] ==\ /
A N = /
D8 bs68o o Be N
M8x16 M8x16 6,0x16  M6x12  4,8x16  8,4x16x1,6 6,4x12x1,5 M8 M6 Dubbelhaftande Tejp \/ 8x30 M8x30
2X 8x 3x  8x  4x 20x 12x 8x  8x 4x 12x  12x



[ —
VA4 @ M8x16  8,4x16x1,6 M8

8x 8x 8x

8,4x16x1,6 8x30 M8x30
12x 12x 12x

6,0x16
—  3X




R

4,8x16
4x

6,4x12x1,5

T -d

~N—

[ & &~

[ X =

(RS

274,00

£ &L




1350,00

= I

NL—

See mounting instructions for art

3-250-0 on next page.



Mounting instructions

3-250-0

) I
) I
I i ‘
et =
I D L
: [
D I
) [
: Nl

o |0 i
) o |0

| IEII D&
=




[E======== > e T

i

— )
\__<\\ B/ ]




. [ 1

MBx12  6,4x12x1,5

N




11

@@

Dubbelhiftande Tejp




[ =

-

WFI AB
ADDRESS: Lidangsvagen 5, 335 32 Gnosjo

TELEFONE: +46 (0) 370 37 13 00

EMAIL: info@wfiab.se

WEB: www.wfiab.se

12



NIF

WORKPLACES FOR INDUSTRIES

www.wfiab.se



	9-738-0-Asm-Inst.pdf
	Tom sida
	Tom sida

	9-738-0-Asm-Inst.pdf
	Tom sida
	Tom sida




